EXAM C QUESTIONS OF THE WEEK

S. Broverman, 2007

Week of January 29/07

You aregiventhat X haspdf f(z)= % for 0 < x < o0.

How many of the following distributions have alighter right tail than X?
I. Paretowith =1 Il. Paretowitha > 1
1. Paralogistic witha = 1 IV. Inverse paralogistic with 7 > 1

A) O B) 1 C 2 D) 3 E) 4

The solution can be found below.



Week of January 29/07 - Solution

. 2
= 2 0D e oo Sameright tail weight

LI V2 SO =Y ) o B )

— . — . ) a-1
fr(z) = 1+a? ad® T mahr 1422 (x + 0) =00 a5 T—00.

X has heavier right tail weight.

i, L@ 4/m [+ (z/0)2 = 4. [L+(z/0) 46

T = T+ — T~ x 8 a0, Same right tail weight.
fl@) _ 4/m all+(@/0)7] 4 e[l (z/0)] -
V. Tv@ = T2 igjeyt wl - >0 a r—-oosince T>1. X has

heavier right tail weight. Answer: C



